N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F [%]
X F X F X
g sl 8 sl g
20°F S10°F s
F <] E Q
F 2 f ]
10*F 1 E
E E S 10
10°F 3
10%F s
oS 29
15F- - [ - IR SRR R .
] T L | Ve R ] R R
-25-20-15-10-5 0 5 10 15 20 2 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L L 2
[=} L Q [=] [5)
g . g . s g
T10°F 210 3 o
i £ E £ 8
F : =
10° 10° 310
3 3 . : 10?
10°F~ 107 T L
A . Pyl OFssssisslisnsiansnednsdiasy fooadodd
10f----denmnieees Beeees FEREEE AEREE 10f : :
Eoo F P il
-] 4 e
Fald, 3 TSl NI e I P PFEE |
. 2 N L8
g : 3
105 - - - - 4 o A
1.5]
- -
30 %50 10 20 30 30 =20 -10 0 10 20 30 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


